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#1b. Write the linear system in matrix form:
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#2b. Write the linear system in matrix form: -
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#4b. Write the given system without the use of
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#5b. Write the given system without the use of
matrices:
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#6b. Verify that the vector X is a solution of the
given system:
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~ #7b. Verify that the vector X is a solution of the

given system:
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#1b. Find the general solution of the system:
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#2b. Find the general solution of the system:
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#3b. Find the general solution of the system:
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#4b. Find the general solution of the system:
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#5b. Find the general solution of the system:
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~ #6b. Solve the initial-value problem:  — -
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#1b. Find the general solution of the system:
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#2b. Find the general solution of the system:
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#3b. Find the general solutionlof the system: .- i+ L +
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#4b. Find the general solution of thE sys’fsm: ‘
10 0 1S 0 @
X=lo 3 1]|X o ¥ | l:-:a
0 -1 1 _ (=
- v - ) O
(0] (3NN H) =~ (] +I)
(310 4] =2
o 2 ) = o Ly _
SN (2R hrl, 2=2

o I

(W2 ET
I;' ;fg { j: [lzz 3-Z ‘,z
o -1 it o o —y U
o 2 T2 SR
g —1 D "} o -1 1
et
- e e i o e
o 6 © o P
© ‘K_‘yé .
ﬁ; =0 > 4‘,,,%3 = 3 kz;?’?-%a
3;’.«0 : _ u
(¥, °) (275 7
(1,2 Lot 1)
t £ ”
(7 [«(?
[ ‘
. Lo 2=




#5b. Find the general solution of the Syst&mz.
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#1b. Find the general solutlon of the system: -
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#3b. Find the general solution of the system:
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#4b. Find the general solution of the system:
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#5b. Solve the initial-value problem: |
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#1b. Use the method of undermined coefficients to | v
solve the system:
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#2b. Use the method of undermined coefficients to
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#3b. Use the mefhod of undermined coefficients to
solve the system:
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#4b. Use the method of undermined coefficients to
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#5b. Use the method of undermined coefficients to
solve the initial-value problem:
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#1b. Use variation of parameters to solve the
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#2b. Use variation of parameters to solve the ‘
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#3b. Use variation of parameters to solve the -
system:
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#1b. Solve the initial-value problem: » ,
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8.3 day 4 —

#1b. Rewrite the followmg 3" order differential = /-
equation as a system of 3 1° *order differential

equations (and also write the initial conditions i 1n

matrix form):
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